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Chemistry 12 Uit 2 - Chemical Equilibrim

10, Given the reaction: A + B & C + D -

When 1.0 mole of A is combined with 1.0 maole of B, an equilibrium is established
/'—\I [A]=02M, [B]=02M.[C] =08 M and [D] = 0.5 M -?Gﬁ.m_-i?_ -Fiﬁ:}rmcld_fr D,ﬂl.-,rH

9 ; If, ar the same temperature, 1.0 mole of C and 1.0 mole of D is combined. When equilibrium
he s iz established, determine what the following concentrations will be:

et = agene (m -c?,ﬂﬂrnaci.ﬂ
0.2 M [Bl=O-Z M, 0.8 a. 5 Y
(Al . [B] M, [C] = M and [D] = M L o rights
Given sufficient activation coergy, a system nod af equelifrinm will evenmally move toward

Eiidi brivn .
S}'s&:nﬁiﬂllﬂndwwardapaai&nnnf F¥i ¥ rvied vyl . r'fm‘-"j erctfuenipre.
Systems will tend toward a position of Pl W a7 0 f h l:} ;LJ entropy.
14, Emaarmr each of [tllﬁ:';?aﬂlum't::t% :;1' ﬂ]: thermic or exothermic and state which has
= a  Clyg + PClag F= PClsg AH = 92.5kJ 5
(_{/ i __ & (3  rhermic and the ool 4 c/ﬁs have minimis enthalpy. i
o b. 2MHagm == Noag + 3Hay AH =924 kJ —
6’ £ da.".? thermic and the res C':L’Lcﬂﬂﬁ have minimum enshalpy.
= c.  CHyg + HaOpgy + 493 kI == COypy + IHzg
(ll_: thermic and the have miripurm emnthalpy.

Is. If the reaction: Clagag) = C'Iﬂa} AH = +25 kT (2““{5’)
F was proceeding to the righe, the enthalpy would be fHIC¥Eed S ing Isthisa

Joveurable change? ! IE .
_—J6.  If the maction: Nyg) + 3Hzg == 2NHayg + 924 k) (exo)
T _' was proceeding to the right, the enthalpy would be de reas ing. Is this a

e Jfovourable change? g& .
C-L:.-". For each of the following, decide whether the reacfaraty or the prodiects have greater
| S.Jlmr.

= Iz(sy — Iz(gy The m&i_i hawve greater entropy.
fgm wo formed ) —
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